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String: name (#:4%)

int: P_number(547:55%)
int: number (R FEEHE)
String: address (i)
String: telephone (B %)
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String: name (#:4%)
int: number (& &%)
String: address (tdik)
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String: name (%:4%)
int: number (Z25%)
Strng: class (F&k)
int: age (FF85)

ES Gz eR

String: name (%:4%)

int: number CEHHR)
Strng: section (Za A1)
Strung: poistion (&)
int: salary GHr&)

String: telephone (ZEEE) String: name (%:4%)
int: class ({5 FHE4R) int: number (PR FE5R) P
int: bank (F/@ERIT5%) String: address (k) SRATIR = R 1
String: telephone (EBEE)
. , float: deposit ({F3K)
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